#### UNA FOOD COURT - GF COMMON AREA

## BILL OF QUANTITIES FOR LIGHT FIXTURE INSTALLATION - RO

SR. NO.	DESCRIPTION	UNISER PRODUCT DESCRIPTION	IMAGE	UNIT	TOTAL QTY. RO	RATE IN Rs.	TOTAL AMOUNT IN Rs.
7.0	LIGHT FIXTURES INSTALLATION						
7.1	Receiving from Store, Installation, testing & commissioning of following light fixtures with complete installation hardwares including Anchor fastner, supporting Hook/Rods as per final approval from Architect/Client/Consultant	-	-	-	-	-	-
7.1.1	ROUND CEILING LIGHT - 18 Watt	18W SURFACE COB LED DOWNLIGHT, BEAM ANGLE 38 DEGREE,CCT- 3000K/4000K/6000K, BODY COLOUR WHITE/ BLACK		Nos.	8	975	7800.00
7.1.2	SUSPENDED PROFILE LIGHT	LED SUSPENDED LINEAR-4 FEET LIGHT CCT 3000K / 4000K/ 6000K BODY FINISH WHITE / BLACK, PRODUCT DIMENSION : 52MM WIDTH X 35MM HEIGHT DRIVER EXTERNAL	7200	Mtr.	55	2340	128700.00
7.1.3	HANGING PROFILE LIGHT WITH BLADE			Nos.	42	0	0.00
7.1.4	CONCEALED PROFILE LIGHT	Aluminium profile concealed dimension 25MM X 25MM with 18W ,12V led strip and 25A driver- 1pc		Mtr.	10	2130	21300.00
7.1.6	LED STRIP (15 M)	_	_	Mtr.	_	_	0.00
7.1.7	WALL LIGHT	-	-	Nos.	-	-	0.00
	TOTAL FOR LIGHT FIXTURE					Rs.	157800.00

## OUTLET - BIKANERVALA UNA FOOD COURT

# BILL OF QUANTITIES FOR LIGHT FIXTURE INSTALLATION - RO

SR. NO.	DESCRIPTION	UNISER PRODUCT DESCRIPTION	IMAGE	UNIT	TOTAL QTY. R0	RATE IN Rs.	TOTAL AMOUNT IN Rs.
7.0	LIGHT FIXTURES INSTALLATION						
7.1	Receiving from Store, Installation, testing & commissioning of following light fixtures with complete installation hardwares including Anchor fastner, supporting Hook/Rods as per final approval from Architect/Client/Consultant	-	-	-			1
7.1.1	ROUND CEILING LIGHT - 18 Watt	18W SURFACE COB LED DOWNLIGHT, BEAM ANGLE 38 DEGREE,CCT- 3000K/4000K/6000K, BODY COLOUR WHITE/ BLACK		Nos.	20	975	19500.00
7.1.2	600*600mm LED PANEL LIGHT	40W Armstrong Grid 2x2 Panel with spring clamp (Removable) ,Outer size: 595x 595mm,Height75mm, IP20 with external driver , Colour Temp-4000k day white		Nos.	6	1620	9720.00
7.1.3	HANGING LIGHT		_	Nos.			0.00
7.1.4		-	-	Nos.			0.00
	TRACK LIGHT						
7.1.6	LED STRIP (15 M)	-	_	Mtr.			0.00
7.1.7	WALL LIGHT	-	-	Nos.			0.00
	TOTAL FOR LIGHT FIXTURE					Rs.	29220.00

#### KARIMS & NOODLEWOK UNA FOOD COURT

# BILL OF QUANTITIES FOR LIGHT FIXTURE INSTALLATION - RO

SR. NO.	DESCRIPTION	UNISER PRODUCT DESCRIPTION	IMAGE	UNIT	TOTAL QTY. R0	RATE IN Rs.	TOTAL AMOUNT IN Rs.
7.0	LIGHT FIXTURES INSTALLATION						
7.1	Receiving from Store, Installation, testing & commissioning of following light fixtures with complete installation hardwares including Anchor fastner, supporting Hook/Rods as per final approval from Architect/Client/Consultant	-	-	-			-
7.1.1	ROUND CEILING LIGHT - 18 Watt	18W SURFACE COB LED DOWNLIGHT, BEAM ANGLE 38 DEGREE,CCT- 3000K/4000K/6000K, BODY COLOUR WHITE/ BLACK		Nos.	10	975	9750.00
7.1.2	600*600mm LED PANEL LIGHT	40W Armstrong Grid 2x2 Panel with spring clamp (Removable) ,Outer size: 595x 595mm,Height75mm, IP20 with external driver , Colour Temp- 4000k day white		Nos.	9	1620	14580.00
7.1.3	HANGING LIGHT		_	Nos.			0.00
7.1.4	TRACK LIGHT	_	_	Nos.			0.00
7.1.6	LED STRIP (15 M)	_	_	Mtr.			0.00
7.1.7	WALL LIGHT	-	-	Nos.			0.00
	TOTAL FOR LIGHT FIXTURE					Rs.	24330.00

## OUTLET GAINIS UNA FOOD COURT

## BILL OF QUANTITIES FOR LIGHT FIXTURE INSTALLATION - RO

SR. NO.	DESCRIPTION	UNISER PRODUCT DESCRIPTION	IMAGE	UNIT	TOTAL QTY. R0	RATE IN Rs.	TOTAL AMOUNT IN Rs.
7.0	LIGHT FIXTURES INSTALLATION						
7.1.1	Receiving from Store, Installation, testing & commissioning of following light fixtures with complete installation hardwares including Anchor fastner, supporting Hook/Rods as per final approval from Architect/Client/Consultant	18W SURFACE COB LED DOWNLIGHT, BEAM ANGLE 38 DEGREE,CCT-	-	-	10	075	-
		3000K/4000K/6000K, BODY COLOUR WHITE/ BLACK		Nos.	10	975	9750.00
7.1.2	PENDENT LIGHT	-		Nos.			0.00
7.1.3	HANGING LIGHT		-	Nos.			0.00
7.1.4	TRACK LIGHT	_	-	Nos.			0.00
7.1.6	LED STRIP (15 M)	-	_	Mtr.			0.00
7.1.7	WALL LIGHT	_	_	Nos.			0.00
	TOTAL FOR LIGHT FIXTURE					Rs.	9750.00